RN L 220 FARER H w1 A s TR

KGR I U 4
WEINIEBE: 2022 4F 1 F773 ™~
AR N
i H 445k FRMIR L 220 TRAE b B 22 s T2 Z.A‘QW“ 1, oA
e TR W S - y o S o)
ﬁfiiﬁ; A37/0516-83741012 SEMTRE S Ce) %ﬁtﬁﬁ%ﬁ
eIV LRSS s N =S
. FBTH/15850537687 o Ve [oE \ {)%ﬁ vA £RY /
— A F Iﬁ.ﬂﬁﬂem,f,%ﬁ%j:mz,mﬁm%gw
Jiti T
etz wWitB& A7 5 T 1 Ril
it 9.65 0.12 0.12
A B [X 4.78 0 0
HEBGTE X 0.49 0 0
S MK 2R X 0.02 0 0
zh 4 b Jith T A = A X 0.50 0 0
FH (hm?) (i I 4 37 X 0.65 0 0
HEX 1.03 0.12 0.12
it T 4 X 0.41 0 0
7k S i iR [X 1.08 0 0
PRERAT I X 0.68 0 0
GRS / / /
i () it | / / /
B/ (Fm) It 2 / / /
B 2R (%) 97 97 97
PR K ARG A R Chm?) 5.29 0 0
BHXRLFE | 75 md 1.43 0 0
A X Y | hm? 2.56 0 0
G E | hm? 1.69 0 0
A5 H, il (X HE K m 2000 0 0
S X 2 L | 5 m?3 0.09 0 0
- k2 X AR | hm? 0.18 0 0
KGR | ”’*‘Mbﬁjﬁm’* n 60 0 0
AR AR |
s hm 0.02 0 0
il LA ARG X e 1 :
e Hiom’ 0.15 0 0
E@Iifrgflziim o 5 5 . .
I HE 37 X L Hh g | hm2 0.65 0 0




b N e ) F m? 0.14 0.02 0.02
FE L X A b 3 hm? 0.97 0 0
i T8RS X - #EE | hm? 0.41 0 0
é%&%ﬁ?@tﬂ h? |08 5 .
PFRERAFEE X L Hh %G | hm? 0.68 0 0
P | AR H s X Al o hm? 2.56 0 0
wy | ARG TE R X O FOFF | hm? 0.18 0 0
5| s AMHEAK LR X 5
i gy hm 0.02 0 0
AR L X P R o 1 0 0
AHEXEEHMER | m? 47800 0 0
AR b X HEAKE | m 1000 0 0
A5 ik T bt 23 4 0 0
i T A e A 3 X 1M e
HEK T m 350 0 0
3 w vl
MIiﬁiﬁﬂﬁu i ; . 0
/5 N A Rag=
‘ﬁ“ﬁgﬁfﬁﬂm m? 7000 0 0
Wi T 3 37 I I )
- m i . m 450 0 0
B | I HE I R T | 2 0 0
e e g Jp 4114
it mﬁﬂa%@?ﬁﬁé . 230 0 0
FERE X PR IR T it s 19 1 |
R X % H W 55 m? 7000 0 0
L X s HE Ak v m 1200 0 0
B3 X T bt 23 30 0 0
it T3 B DA BEANAR | m? 400 0 0
ﬁ%&ﬁﬁgzﬁﬁ 2 - 0 3
%%K&Eé%?lﬁ% H m? 8200 0 0
— Fif WY £ (mm ) / 72 /
;tfggf; K 24 /NI B R (mm D / 13 /
B K R (m/s) / 7 /
TR RE (D 138.8 0.06 0.06
K 3 2 fa E A v H
FEAE 1) b Y ¥
‘ FRMEA L 220 TFORAR B G 1 2 40 s T RRAE
*ijﬁlﬂﬂ’i@” 2022 (F 5~ FREMIFUMBIE T, K RAF U
2K Z

=&

IR =N AR A,




Ayt et H oK HBR AN = PP aabs B AR GAAT)

T H 4 #x RS 220 TR AT v, o 4 25 i T
0 B ,
%éggg% 2022 4% — FPE, 012 AW
= S AN 4
SR fbEm  Hko Ao
TEN-18 47 oE | B Wi 2331, B
.24 9 B 15 15 | Tk 5 AR O ok AR i
T xL#E 5 s | BAERZLIERPHHAL
PR 7 18T AR 48 3 1000m?
®h =1 (=
ﬁ)ﬁﬁ 15 15 | ARIREFUFEY.
AR L3 KR 15 15 | AL & & EARMIT 100m3,
4 T 20 18 | IR I3k 4 35 A B
EX i | 15 | 15 | Bk,
BE| pepgs | 10 | s | BAERRE e
KAEF K E 5 5 | RFEKRLEFERE.
& it 100 | 96 |FHE B




